

County Distribution Detail Report through 05/04/2016

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
3/2016	1,287	1,829	Lines 0	3,116	\$3,895.00	\$78.85	\$3,816.15	Percent 0.70	\$2,671.31
3/2016	1,207	1,029	0	3,110	\$3,895.00	CO.01¢	\$3,610.15	0.70	\$2,071.31
							Entity Tota	al:	\$2,671.31
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,671.31
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	0	0	0	\$0.00	\$0.69	\$-0.69	0.70	\$-0.48
3/2016	4,808	10,283	104	15,195	\$18,993.75	\$398.00	\$18,595.75	0.70	\$13,017.03
							Entity Tota	al:	\$13,016.55
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$13,016.55
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	961	1,048	2	2,011	\$2,513.75	\$50.29	\$2,463.46	0.70	\$1,724.42
							Entity Tota	al:	\$1,724.42
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,724.42
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	WIREIESS LINES	Lines	i otal Lines	Surcharge	Admin Fee	Net Surcharge	Percent	Entity Amount	
3/2016	2,365	3,660	10	6,035	\$7,543.75	\$150.91	\$7,392.84	0.70	\$5,174.99	

							Entity Tota		\$5,174.99
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$5,174.99
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	0	0	0	\$0.00	\$0.69	\$-0.69	0.70	\$-0.48
2/2016	780	0	-780	0	\$0.00	\$0.00	\$0.00	0.70	\$0.00
3/2016	10,481	19,570	80	30,131	\$37,663.75	\$764.17	\$36,899.58	0.70	\$25,829.71
							Entity Tota	l:	\$25,829.23
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$25,829.23
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	0	0	0	\$0.00	\$0.69	\$-0.69	0.70	\$-0.48
3/2016	12,225	25,117	200	37,542	\$46,927.50	\$981.87	\$45,945.63	0.70	\$32,161.94
							Entity Tota	l:	\$32,161.46
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$32,161.46
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,825	3,473	5	6,303	\$7,878.75	\$163.58	\$7,715.17	0.70	\$5,400.62
							Entity Tota	I:	\$5,400.62
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$5,400.62
Buffalo									
Poporting Poriod	Tolocom Linos	Wiroloss Linos	VOIR	Total Linos	Surchargo	Admin Eco	Not Surchargo	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	638	408	1	1,047	\$1,308.75	\$27.42	\$1,281.33	0.70	\$896.93
							Entity Tota	l:	\$896.93

Adjustment: \$0.00

Total Amount: \$896.93

Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,161	6,056	14	8,231	\$10,288.75	\$213.73	\$10,075.02	0.70	\$7,052.51
							Entity Tota	al:	\$7,052.51
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,052.51
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	842	1,440	2	2,284	\$2,855.00	\$59.38	\$2,795.62	0.70	\$1,956.93
							Entity Tota	al:	\$1,956.93
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,956.93
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	3,299	5,107	8	8,414	\$10,517.50	\$214.27	\$10,303.23	0.70	\$7,212.26
							Entity Tota	al:	\$7,212.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,212.26
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	64	1,606	0	1,670	\$2,087.50	\$43.93	\$2,043.57	0.70	\$1,430.50
							Entity Tota	al:	\$1,430.50
							Adjustmer	nt:	\$0.00
	City Uni						Total Amo	unt:	\$1,430.50
City of North Sigur									
City of North Sioux					_				
City of North Sioux	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Entity Total:	\$3,259.62
Adjustment:	\$0.00
Total Amount:	\$3,259.62

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	0	0	0	\$0.00	\$19.06	\$-19.06	0.70	\$-13.34
3/2016	6,008	18,049	277	24,334	\$30,417.50	\$664.15	\$29,753.35	0.70	\$20,827.35
							Entity Total	:	\$20,814.01
							Adjustment	:	\$0.00
							Total Amou	nt:	\$20,814.01
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,658	2,462	2	4,122	\$5,152.50	\$104.19	\$5,048.31	0.70	\$3,533.82
							Entity Total	:	\$3,533.82
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,533.82
Clay									

C

City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,800	7,157	48	10,005	\$12,506.25	\$260.08	\$12,246.17	0.70	\$8,572.32
							Entity Tota	I:	\$8,572.32
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$8,572.32

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	0	0	0	\$0.00	\$0.83	\$-0.83	0.70	\$-0.58
3/2016	8,450	18,641	82	27,173	\$33,966.25	\$687.22	\$33,279.03	0.70	\$23,295.32
							Entity Tota	al:	\$23,294.74
							Adjustmer	nt:	\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,478	503	4	1,985	\$2,481.25	\$50.68	\$2,430.57	0.70	\$1,701.40
							Entity Tota	l:	\$1,701.40
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,701.40
Custor									

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	3,677	4,752	29	8,458	\$10,572.50	\$237.44	\$10,335.06	0.70	\$7,234.54
							Entity Tota	l:	\$7,234.54
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,234.54

Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	0	0	0	\$0.00	\$0.83	\$-0.83	0.70	\$-0.58
3/2016	6,556	13,291	272	20,119	\$25,148.75	\$542.88	\$24,605.87	0.70	\$17,224.11
							Entity Total:		\$17,223.53
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$17,223.53

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,488	3,430	4	5,922	\$7,402.50	\$149.73	\$7,252.77	0.70	\$5,076.94
							Entity Tota	l:	\$5,076.94
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$5,076.94
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,231	2,842	5	5,078	\$6,347.50	\$140.97	\$6,206.53	0.70	\$4,344.57

							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$4,344.57
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,465	2,074	4	3,543	\$4,428.75	\$89.11	\$4,339.64	0.70	\$3,037.75
							Entity Tota	ıl:	\$3,037.75
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$3,037.75
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,493	2,723	7	4,223	\$5,278.75	\$105.59	\$5,173.16	0.70	\$3,621.21
							Entity Tota	ıl:	\$3,621.21
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$3,621.21
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	3,574	4,006	9	7,589	\$9,486.25	\$191.67	\$9,294.58	0.70	\$6,506.21
							Entity Tota	d:	\$6,506.21
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$6,506.21
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,015	1,448	4	2,467	\$3,083.75	\$63.03	\$3,020.72	0.70	\$2,114.50
							Entity Tota	ıl:	\$2,114.50
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,114.50
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,801	5,090	152	8,043	\$10,053.75	\$226.50	\$9,827.25	0.70	\$6,879.08

Gregory							Entity Tota Adjustmen Total Amor	t:	\$6,879.08 \$0.00 \$6,879.08
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,002	3,481	3	5,486	\$6,857.50	\$148.14	\$6,709.36	0.70	\$4,696.55
							Entity Tota	l:	\$4,696.55
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,696.55
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,090	1,377	5	2,472	\$3,090.00	\$61.81	\$3,028.19	0.70	\$2,119.73
							Entity Tota	l:	\$2,119.73
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,119.73
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

	Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
	2/2016	29	0	-29	0	\$0.00	\$0.00	\$0.00	0.70	\$0.00	
	3/2016	2,055	3,523	7	5,585	\$6,981.25	\$139.73	\$6,841.52	0.70	\$4,789.06	
								Entity Tota Adjustmen Total Amo	t:	\$4,789.06 \$0.00 \$4,789.06	
Н	and										

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,358	2,608	9	3,975	\$4,968.75	\$99.64	\$4,869.11	0.70	\$3,408.38
							Entity Tota	l:	\$3,408.38
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$3,408.38

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,099	2,889	20	4,008	\$5,010.00	\$101.46	\$4,908.54	0.70	\$3,435.98
							Entity Total	:	\$3,435.98
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,435.98
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting renou			Lines	Total Lines	ouronarge	Adminitec	Net Gurenarge	Percent	Entry Amount
3/2016	756	819	1	1,576	\$1,970.00	\$50.19	\$1,919.81	0.70	\$1,343.87
							Entity Total:		\$1,343.87
							Adjustment		\$0.00
							Total Amou	nt:	\$1,343.87

Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	5,363	14,308	165	19,836	\$24,795.00	\$527.83	\$24,267.17	0.70	\$16,987.02
							Entity Tota	:	\$16,987.02
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$16,987.02

Hutchinson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	3,468	4,850	8	8,326	\$10,407.50	\$208.16	\$10,199.34	0.70	\$7,139.54
							Entity Tota	:	\$7,139.54
							Adjustmen	::	\$0.00
							Total Amou	int:	\$7,139.54
Hyde									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	847	1,024	2	1,873	\$2,341.25	\$48.06	\$2,293.19	0.70	\$1,605.23
							Entity Tota	al:	\$1,605.23

Total Amount: \$1,605.23

\$1,944.80

Total Amount:

Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	727	827	0	1,554	\$1,942.50	\$38.84	\$1,903.66	0.70	\$1,332.56
							Entity Tota	l:	\$1,332.56
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,332.56
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,040	1,228	0	2,268	\$2,835.00	\$56.71	\$2,778.29	0.70	\$1,944.80
							Entity Tota	l:	\$1,944.80
							Adjustmen	t:	\$0.00

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	597	652	12	1,261	\$1,576.25	\$31.55	\$1,544.70	0.70	\$1,081.29
							Entity Tota	l:	\$1,081.29
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,081.29

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2016	279	0	-279	0	\$0.00	\$0.00	\$0.00	0.70	\$0.00
3/2016	1,646	3,985	6	5,637	\$7,046.25	\$145.13	\$6,901.12	0.70	\$4,830.78
							Entity Tota	ıl:	\$4,830.78
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$4,830.78
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	3,315	9,165	62	12,542	\$15,677.50	\$321.78	\$15,355.72	0.70	\$10,749.00

							Entity Tota	1.	\$10,749.00
							Adjustmer		\$0.00
							Total Amo		\$10,749.00
Lawrence							i otal Amo	unt:	\$10,749.00
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	9,636	15,477	63	25,176	\$31,470.00	\$654.04	\$30,815.96	0.70	\$21,571.17
							Entity Tota	d:	\$21,571.17
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$21,571.17
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2016	230	0	0	230	\$287.50	\$0.00	\$287.50	0.70	\$201.25
3/2016	6,344	20,365	340	27,049	\$33,811.25	\$767.97	\$33,043.28	0.70	\$23,130.30
							Entity Tota	ıl:	\$23,331.55
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$23,331.55
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,431	1,836	1	3,268	\$4,085.00	\$87.95	\$3,997.05	0.70	\$2,797.94
							Entity Tota	ıl:	\$2,797.94
							Adjustmer	ıt:	\$0.00

Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,041	2,665	8	4,714	\$5,892.50	\$121.04	\$5,771.46	0.70	\$4,040.02
							Entity Tota	l:	\$4,040.02
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$4,040.02

Total Amount:

\$2,797.94

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,743	4,109	8	6,860	\$8,575.00	\$171.44	\$8,403.56	0.70	\$5,882.49
							Entity Tota	l:	\$5,882.49
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$5,882.49
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,169	1,463	1	2,633	\$3,291.25	\$79.72	\$3,211.53	0.70	\$2,248.07
							Entity Tota	l:	\$2,248.07
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$2,248.07
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	4,556	16,105	186	20,847	\$26,058.75	\$556.19	\$25,502.56	0.70	\$17,851.79
							Entity Tota	l:	\$17,851.79
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$17,851.79
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	654	615	0	1,269	\$1,586.25	\$31.72	\$1,554.53	0.70	\$1,088.17
							Entity Tota	l:	\$1,088.17
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,088.17
Miner									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
3/2016	1,139	1,546	2	2,687	\$3,358.75	\$67.29	\$3,291.46	0.70	\$2,304.02	
							Entity Tota	al:	\$2,304.02	

Adjustment:

\$0.00

Total Amount:

\$2,304.02

Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	48,039	140,338	1,660	190,037	\$237,546.25	\$4,983.63	\$232,562.62	0.70	\$162,793.83
							Entity Tota	:	\$162,793.83
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$162,793.83
Moody									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2016	160	0	-160	0	\$0.00	\$0.00	\$0.00	0.70	\$0.00
3/2016	1,627	4,360	11	5,998	\$7,497.50	\$173.96	\$7,323.54	0.70	\$5,126.48
							Entity Tota	al:	\$5,126.48
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,126.48

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	0	0	0	\$0.00	\$1.52	\$-1.52	0.70	\$-1.06
3/2016	30,730	70,647	579	101,956	\$127,445.00	\$2,633.30	\$124,811.70	0.70	\$87,368.19
							Entity Tota Adjustmer		\$87,367.13 \$0.00
							Total Amo		\$87,367.13
Perkins									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	1,887	2,380	6	4,273	\$5,341.25	\$116.76	\$5,224.49	0.70	\$3,657.14
							Entity Tota	al:	\$3,657.14
							Adjustmer	nt:	\$0.00
D <i>H</i>							Total Amo	unt:	\$3,657.14
Potter									

Reporting Period

Wireless Lines

Telecom Lines

VOIP Total Lines

Surcharge

Admin Fee Net Surcharge

Entity Entity Amount Percent

3/2016	1,437	1,691	4	3,132	\$3,915.00	\$78.32	\$3,836.68	0.70	\$2,685.68
							Entity Tota	al:	\$2,685.68
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,685.68
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	4,176	4,587	6	8,769	\$10,961.25	\$241.23	\$10,720.02	0.70	\$7,504.01
							Entity Tota	al:	\$7,504.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,504.01
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	994	1,804	0	2,798	\$3,497.50	\$69.96	\$3,427.54	0.70	\$2,399.28
							Entity Tota	al:	\$2,399.28
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,399.28
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,323	4,466	6	6,795	\$8,493.75	\$171.59	\$8,322.16	0.70	\$5,825.51
							Entity Tota	al:	\$5,825.51
							Adjustmer	nt:	\$0.00

Stanley

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	878	2,201	12	3,091	\$3,863.75	\$78.95	\$3,784.80	0.70	\$2,649.36
							Entity Tota	ıl:	\$2,649.36
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,649.36

Total Amount:

\$5,825.51

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	848	1,105	1	1,954	\$2,442.50	\$48.95	\$2,393.55	0.70	\$1,675.49
							Entity Tota	l:	\$1,675.49
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,675.49
Todd									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	0	15	219	234	\$292.50	\$7.09	\$285.41	0.70	\$199.79
							Entity Total:		\$199.79
							Adjustment:		\$0.00
							Total Amount:		\$199.79

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,812	3,712	7	6,531	\$8,163.75	\$164.41	\$7,999.34	0.70	\$5,599.54
							Entity Total:		\$5,599.54
							Adjustment:		\$0.00
							Total Amou	int:	\$5,599.54

Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,599	5,921	12	8,532	\$10,665.00	\$214.94	\$10,450.06	0.70	\$7,315.04
							Entity Total:		\$7,315.04
							Adjustment:		\$0.00
							Total Amo	unt:	\$7,315.04

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2016	960	0	0	960	\$1,200.00	\$0.00	\$1,200.00	0.70	\$840.00
3/2016	4,013	9,648	120	13,781	\$17,226.25	\$415.08	\$16,811.17	0.70	\$11,767.82

Walworth							Adjustmen Total Amor		(\$4,333.05) \$8,274.77
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2016	2,435	3,558	13	6,006	\$7,507.50	\$152.36	\$7,355.14	0.70	\$5,148.60
							Entity Total:		\$5,148.60
							Adjustment:		\$0.00
							Total Amo	unt:	\$5,148.60

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	0	0	0	\$0.00	\$0.69	\$-0.69	0.70	\$-0.48
3/2016	6,421	14,700	33	21,154	\$26,442.50	\$536.51	\$25,905.99	0.70	\$18,134.19
							Entity Total: Adjustment:		\$18,133.71 \$0.00
							Total Amount:		\$18,133.71

Totals	257,851	554,427	3,706	815,984	\$ 1,019,980.00	\$ 21,395.22	\$ 998,584.78